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Number Finding 6 Test

Instruction: In this test, 75 questions are asked, and a time of 4 or 5 minutes is given. Within this
allotted time, you need to quickly shade the boxes provided in the answer sheet. In this test, the task is
to find the number '6' in the given questions.
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Find the number '6' in the given questions/ f&T T w11 § 3 '6' @0

Q1. (a) 738490540
(b) 736480540
(c) 719393404
(d) 719393404
(a)a (b)b (c)c
(d)d (e)e

Q2. (a) 383949748
(b) 386979248
(c) 323940151
(d) 316940151
(a)a (b) b (c
(d)d (e)e

Q3. (a) 479303587
(b) 47630387
(c) 14235857
(d) 14292847
(a)a (b)b (c)c
(d)d (e)e

Q4. (a) 32489540
(b) 38461540

(c) 41465907

(d) 42485907

(a)a (b) b (c)c
(d)d (e)e

Q5. (a) 475936
(b) 47593960
(c) 542348490
(d) 5741490
(@)a (b)b (c)c
(d)d (e)e
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Q6. (a) 92341987
(b) 82341986
(c) 57493783
(d) 57491783
(a)a (b) b (c
(d)d (e)e

Q7. (a) 53838498
(b) 53238496
(c) 37349490
(d) 37342496
(a)a (b)b (c)c
(d)d (e)e

Q8. (a) 19012943
(b) 19512943
(c) 456485430

(d) 45748540
(a)a (b)b (Qc
(d)d (e)e

Q9. (a) 253749498
(b) 1628739
(c) 17287389
(d) 253749498
(a)a (b)b (c)c
(d)d (e)e

Q10. (a) 45736278
(b) 52316045
(c) 59386085

(d) 45239278
(@) a (b) b (Qc
(d)d (e)e

$1. Ans.(b)

Sol. Correct answer is: (b) 736480540
Here in option (b) 736480540 digit 6 is given.

S2. Ans.(e)

Sol. Correct answer is (e)

Here, digit 6 is given in both option (b) 386979248) and option (d) 316940151, hence option (e) will
be the correct answer.
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$3. Ans.(b)
Sol. Correct answer is (b) 47630387
Here in option (b) 47630387 digit 6 is given.

S4. Ans.(e)

Sol. Correct answer is (e)

Here, digit 6 is given in both option B (38461540) and option C (41465907), hence option E will be the
correct answer.

S5. Ans.(e)

Sol. Correct answer is (e)

Here, digit 6 is given in both option (a) 475936 and option (b) 47593960, hence option (e) will be the
correct answer.

S6. Ans.(b)
Sol. Correct answer is: (b) 82341986
Here in option (b) 82341986 digit 6 is given.

S$7.Ans.(e)

Sol. Correct answer is (e)

Here, digit 6 is given in both option (b) 53238496 and option (d) 37342496, hence option (e) will be
the correct answer.

$8. Ans.(c)
Sol. Correct answer is (c) 456485430
Here in option (c) 456485430 digit 6 is given.

$9. Ans.(b)
Sol. Correct answer is (b) 1628739
Here in option (b) 1628739 digit 6 is given.

$10. Ans.(e)

Sol. Correct answer is (e)

Here, digit 6 is given in option (a) 45736278), (b) 52316045 and option (c) 59386085, hence option (e)
will be the correct answer.
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